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MPM 2D Formative Assessment: Similar Triangles & Pythagorean Theorem

Expectations you’re working on...

o Students will use their knowledge of ratio and proportion to i

o Students will solve problems involving right triangles using

Date:

problems related to similarity

the Pythagorean Theorem

Still Learning... Almost There... Got It!
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c) Use the fact that they are similar to find the length of 88. Show your work.

Sence DA= 2 BO |, Hhn EC = 2 Beg

?

or 9= 288 5 #4.5= Be

it

m(f..,ﬁ«_ +he somi \er dnone (e 3C BE x Scule LMD.P.TQ.\
N >

k<x 3

i

W

AW, m S mn = a”‘w, <

(.2 ¥+

—

Communication Corner
(leave blank)

3. Find the length and width of the pond using two, different
methods. The following measures are known:

AB=14m

Part B-Application

BC=11m

Assume that XY is a line of symmetry for the pond.




Method 1: Pythagorean Theorem

Method 2: Similar Triangles
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Part C-Thinking, Inquiry and Problem Solving

Statement: The square of the scale factor relates the areas of two similar figures.

bh
Given that the area of a triangle is given by the formula, A = |N-\ create your own example involving similar triangles that proves the
statement.
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